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NEW QUESTION 1
Which option about JSON is true?

A. uses predefined tags or angle brackets () to delimit markup text
B. used to describe structured data that includes arrays

C. used for storing information

D. similar to HTML, it is more verbose than XML

Answer: B

NEW QUESTION 2
Which set of action satisfy the requirement for multifactor authentication?

A. The user swipes a key fob, then clicks through an email link

B. The user enters a user name and password, and then clicks a notification in an authentication app on a mobile device
C. The user enters a PIN into an RSA token, and then enters the displayed RSA key on a login screen

D. The user enters a user name and password and then re-enters the credentials on a second screen

Answer: A

NEW QUESTION 3
An email user has been lured into clicking a link in an email sent by their company's security organization. The webpage that opens reports that it was safe but the
link could have contained malicious code. Which type of security program is in place?

A. Physical access control
B. Social engineering attack
C. brute force attack

D. user awareness

Answer: B

NEW QUESTION 4
Which configuration is needed to generate an RSA key for SSH on a router?

A. Configure the version of SSH
B. Configure VTY access.

C. Create a user with a password.
D. Assign a DNS domain name

Answer: B

NEW QUESTION 5

A Cisco IP phone receive untagged data traffic from an attached PC. Which action is taken by the phone?
A. It allows the traffic to pass through unchanged

B. It drops the traffic

C. It tags the traffic with the default VLAN

D. It tags the traffic with the native VLAN

Answer: C

NEW QUESTION 6

Which attribute does a router use to select the best path when two or more different routes to the same destination exist from two different routing protocols.
A. dual algorithm

B. metric

C. administrative distance

D. hop count

Answer: D

NEW QUESTION 7
Drag and drop the network protocols from the left onto the correct transport services on the right.
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IConnection Orented
SMTP
SNMP
TETP
" Q:P
IConnectionless
SSH
FTP
A. Mastered
B. Not Mastered
Answer: A
Explanation:
|Connection Onented
SMTP l |
FTP l

SNMP

NEW QUESTION 8
What is the primary effect of the spanning-tree portfast command?

A. it enables BPDU messages

B. It minimizes spanning-tree convergence time

C. It immediately puts the port into the forwarding state when the switch is reloaded
D. It immediately enables the port in the listening state

Answer: A

NEW QUESTION 9
What is the default behavior of a Layer 2 switch when a frame with an unknown destination MAC address is received?
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A. The Layer 2 switch drops the received frame
B. The Layer 2 switch floods packets to all ports except the receiving port in the given VLAN.

C. The Layer 2 switch sends a copy of a packet to CPU for destination MAC address learning.

D. The Layer 2 switch forwards the packet and adds the destination MAC address to its MAC address table

Answer: B

NEW QUESTION 10

Refer to the exhibit.
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Rl% show ip route

16.0/26 [90/2679326] via 192 168.1.1
16.0/24 [120/3) wia 192.168.1.2
16.0/21 [110/2] wia 152.168.1.3

16,0727 [115/30] via 192.168.1.4

Which route does R1 select for traffic that is destined to 192 168.16.27

A. A-192.168.16.0/21B.192.168.16.0/24C.192.168 26.0/26D.192.168.16.0/27

Answer: B

NEW QUESTION 10

Which IPv6 address block sends packets to a group address rather than a single address?

A. 2000::/3
B. FC00::/7
C. FE80::/10
D. FF00::/8

Answer: C

NEW QUESTION 15

Which command is used to specify the delay time in seconds for LLDP to initialize on any interface?

A. lldp timer
B. lldp holdtimt
C. lidp reinit

D. lidp tlv-select

Answer: D

NEW QUESTION 18

Refer to the exhibit.
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VLAN 20
Switch A i
P 11 pae —
- e T
VLAN 10

Web Server

Ay

IP address
10 30 0 100724

Switch B

Int VLAN 10 - ip address 10 10 0 024
Int VLAN 20 — ip address 1020 0.0/24
Int VLAN 30 - ip address 10.30 0.0/24

A network engineer must block access for all computers on VLAN 20 to the web server via HTTP All other computers must be able to access the web server
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Which configuration when applied to switch A accomplishes this task?

config t
ip access-list extended wwwblock

int vlan 10

ip access-group wwWwwblock in

deny tocp any host 10.30.0.100 =g 80

config t
ip access-list extended wwwblock

permit ip any any
int vlan 20
ip access-group wwwblock in

deny tocp any host 10.30.0.100 eq 80

config t
ip access-list extended wwwblock
permit ip any any

int wlan 30
ip access-group wWwwwblock in

deny tcp any host 10.30.0.100 eq 80

config t
ip access-list extended wwwhlock
permit ip any any

int vlan 20

ip access-group wwwblock in

deny tcp any host 10.30.0.100 eq 80

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 19

An organization has decided to start using cloud-provided services. Which cloud service allows the organization to install its own operating system on a virtual

machine?

A. platform-as-a-service

B. software-as-a-service

C. network-as-a-service

D. infrastructure-as-a-service

Answer: D

NEW QUESTION 20

Which command automatically generates an IPv6 address from a specified IPv6 prefix and MAC address of an interface?

A. ipv6 address dhcp

B. ipv6 address 2001:DB8:5:112::/64 eui-64

C. ipv6 address autoconfig

D. ipv6 address 2001:DB8:5:112::2/64 link-local

Answer: C

NEW QUESTION 22

Which two tasks must be performed to configure NTP to a trusted server in client mode on a single network device? (Choose two)

A. Enable NTP authentication.

B. Verify the time zone.

C. Disable NTP broadcasts

D. Specify the IP address of the NTP server
E. Set the NTP server private key

Answer: DE

NEW QUESTION 23
Refer to the exhibit.
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. ! Se0/0/0 § g Conhgured routers IPv6 addresses
Se/0/0 1 I Allanta
Allanta Aashington Serial 0/0/0 2012 1/126
LoJ Loopback?: 2000::1/128
Lo 2012°1126 iigaad
- New York

Senal 0/0/0 - 2012-2/126
Senal 01011 2023 2/126
Loopback2: 2000.2/128

. Washington
S5e0/0/0 “xapt™ Se/0/1 Senal 0/0/0 - 2023..3/126
3 Loopback3 2000 3/128
New-York
L0Z

The New York router is configured with static routes pointing to the Atlanta and Washington sites. Which two tasks must be performed so that the Serial0/0/0
interfaces on the Atlanta and Washington routers can reach one another? (Choose two.)

A. Configure the ipv6 route 2012::/126 2023::1 command on the Washington router
B. Configure the ipv6 route 2023::/126 2012::1 command on the Atlanta router.

C. Configure the Ipv6 route 2012::/126 s0/0/0 command on the Atlanta router

D. Configure the ipv6 route 2023::/126 2012::2 command on the Atlanta router

E. Configure the ipv6 route 2012::/126 2023::2 command on the Washington router

Answer: CE

NEW QUESTION 24
Which result occurs when PortFast is enabled on an interface that is connected to another switch?

A. Spanning tree may fail to detect a switching loop in the network that causes broadcast storms
B. VTP is allowed to propagate VLAN configuration information from switch to switch automatically.
C. Root port choice and spanning tree recalculation are accelerated when a switch link goes down
D. After spanning tree converges PortFast shuts down any port that receives BPDUSs.

Answer: A

NEW QUESTION 25
Drag and drop the descriptions of file-transfer protocols from the left onto the correct protocols on the right.
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A. Mastered
B. Not Mastered

The Leader of IT Certification visit - https://www.certleader.com



CertLeader:

Leader of IT Certifications

100% Valid and Newest Version 200-301 Questions & Answers shared by Certleader
https://www.certleader.com/200-301-dumps.html (103 Q&As)

Answer: A

Explanation:
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NEW QUESTION 30
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Which mode must be used to configure EtherChannel between two switches without using a negotiation protocol?

A.on

B. auto

C. active

D. desirable

Answer: D

NEW QUESTION 34

If a notice-level messaging is sent to a syslog server, which event has occurred?

A. A network device has restarted
B. An ARP inspection has failed
C. Arouting instance has flapped
D. A debug operation is running

Answer: A

NEW QUESTION 37
Refer to the exhibit.

Flf show ip routs | begin gateway

iz directly connected, Seriald/1/0

Gateway of last resort is 209 .165.200.24€ to network 0.0.0.0
£ 0.0.0.0/0 [1/0] wia 209 163.200. 246, Seriald/l/0

172.
172.
172.
172.
205,
209
20%.
209

Z09.

== 7]

H e

16.0.0/16 is variably subnetted, 3 subnets, 31 masks
16.0.0/24 [1/0] wia 207 163 200 .230, Saciald/0/0
16.0.128/2% [110/38443] wia 207.165.200.254, 00:00:23, Sarisl0fOs1

16.0.19%2/2% [90/3184439] wia 207.165 200.234,
163.200.0/24 is variably subnatted, 4

185.200. 248,30 1s
165 .200. 245732 is
165,200 252/30 1is
165.200.253/32 is

direcrcly
directly
directly
directly

connactid
connected,
connected
Conmes T |

00:00:2%, Seriald/0/1
subnats, 2 masks

Sariald/o 0

Sariald/o/0

Serialld/jorl

SarialdfoSf1

With which metric was the route to host 172.16.0.202 learned?

A. 110
B. 38443
C. 3184439

Answer: C

NEW QUESTION 40
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